=X ok ESy S Pz
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2N (D (L/min) (f/co)

EXEA M 1 LX-50 250 10. 0.00
BXEAM 2 LX-50 250 10. 0.00
BEXIZAM 3 LX-50 250 10. 0.00
EXEAHM 4 LX-50 250 10. 0.00
fI8dH| 1 LX-50 130 10. 0.00
| 2 LX-50 130 10. 0.00
S27] HiET 1 LX-50 130 10. 0.00
S27] iz 2 LX-50 50 10. 0.00
27| HiEF 3 LX-50 50 10. 0.00
27| HIET 4 LX-50 50 10. 0.00
S27] HiE+ 5 LX-50 50 10. 0.00
27| HHIET 6 LX-50 50 10. 0.00
27| BiET 7 LX-50 50 10. 0.00
27| HiET 8 LX-50 50 10. 0.00
7| g=E4 1 LX-50 50 10. 0.00
H7|E E2XE 1 LX-50 50 10. 0.00
7l EXHE 2 LX-50 50 10. 0.00




o|at
o|at
o|2t

0.01
0.01
0.01
0.01
0.01

0.00
0.00
0.00
0.00
0.00

1,0
1,0
1,0
1,0
1,0

10.
10.
10.
10.
10.

100
100
100
100
100

2

1

Al
=
Al
=

Ao|Lt
Mot

=

=)

=
o

4
4

. 1F
RO = ﬂ_ e wm | wm
[=) Hl o |o|o
M | m Bl RO ._M_\
ol b £ A
- | - w <0 muo
A ™ oF W y ™
S8 |9 wd  mE |
LI ps Kr W =222
A FI o Y|l o |o | o
I L|O I_._O ~—
™ I o
o
IH _m W -
LH = Ho m o |o | o
Ho = R =222
pall = rE e
<r o
- o
ol N ™ a
H “.m Mo — o _
N =3 oOfF 2|2 2|<2
N {10 ==
-— N
ok S
w 10 _
i T x5 ay €
of |2 300 .o_.Au ) u_u Eloc|oc|o
om | W > m M.\ - | - | —
&K ko o ¥ H
—_ = |nd
i = S8 2oyl
K1 | EO |60 R EEEIEIE
= | < o KIr
of |4 | % N_ =
TN N L=
KF | R0 | RO ny o+ ™ 4
g B R
=) = H 0
R < oo = Ar
NEEG ™ o _
| <4 |®O | g e L
=K== A B |7 (H|S
o | RE ok AUz ™ F o ERE=S
OI_ I3 xr il 7| il - — o |31
HOMEMW oo MW | R
o [#r | ™ 2 =r 0 0 N RO Klo | Klo | Klo
= of |go g | & < S Ar S
~ IH Y
ot Bl . Lo 3 ET

4
5
10
11
12
13
14
15
16
17
18
19
20




